Kendriya Vidyalaya Picket,Secunderabad
Summer Vacation Home Work (Class VilIl) - 2023-24
e e < Class - VIII

Social science

1. imagine that you are a historian wanting to find out about how agriculture
changed in a remote tribal area after independence. List the different ways in
which you would find information on this.

2.“The future generation may not have sufficient resources as compared to the
present generation”. Justify the statement by giving suitable examples.

3.Write a short note on Human rights violation in your own words.

4. Mark and name the following on the outline map of India.

1. Thar desert

2. Western Coastal Plains

3. Sundarbans

4. Eastern ghats

5. Punjab Haryana Plain

6

. Aravalli hills
ENGLISH

READ THE NEWSPAPER

PICK AN INTERESTING ARTICLE

WRITE IN NEAT HANDWRITING :

a. GIST (5-10 LINES)

b. OPINION (2-5 LINES)

DO THIS EVERYDAY

YOU CAN BEAUTIFY THE PAGE AS PER YOUR INTEREST
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SUB: MATHEMATICS

1. Write the following properties of Rational Numbers

with examples.
a) closure property for-1) whole numbers
2)Integers
3) Rational numbers
2.Fill the table with yes/no

Numbers Commutative for
Addition Subtraction multiplication division
Rational Y
number
Integers
Whole numbers
Natural
numbers
3. ]
3 (-6 (-8) (5)
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Find -X?—ﬁ—-x:

Solve the following equations and check your results.
L 3x=2+18 2 51-3=3t-5 3 x+9=5+3%

d d743=6+1 5 k-1=14-x 6. 8x+d=3(x-1)+7

7. x= g(x+10)
6. SOlLvE *%1:1-"%X,3
3 15

7.Solve the following linear equations
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8. simplify and solve
a) 3(t-3) =5 (2t+1)

b) 0.25(4f-3) = 0.05(10f-9)
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SCIENCE

COMPLETE Assertion and Reason Questions
Chapter 1 Crop Production and Management NOTES AND MCQ’S



